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U(S, V ) dU = TdS − pdV

*,"32.')465$/1%
S(U, V ) dS = 1

T
dU + p

T
dV

*,"32.798�:;5$/1%
H(S, p) = U + pV dH = TdS + V dp

<$')%(/1%�*,"&%('.-0/1%
F (T, V ) = U − TS dF = −SdT − pdV

<$')%(/1%�*,"32.798�:;5$/1%
G(T, p) = H − TS dG = −SdT + V dp
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dS = 0, dV = 0 dU = 0

/1j)%("32.')465lkm/1j)46r98�'po@"3x$'zyz'.r\%(/;2)jb8�x&j.2b8�x&j)n)7Jv
dS = 0, dp = 0 dH = 0

/1j)462.7&%('.upkm/1j)43nb7&46'po@"3x$'|{~}�'.u�%L8�x&j.2b8�x&j)nb7Jv
dT = 0, dV = 0 dF = 0

/1j)462.7&%('.upkm/1j)46r98�'�oQyz')rJ%(/;2)j�k�x]�l{~}�'.u�%L8�x&j.2b8�x&j)nb7Jv
dT = 0, dp = 0 dG = 0

/1j)43%("&%('.-H%(2./1j)nb7lkm/1j)43n)7946'
dU = 0, dV = 0 dS = 0

86�l/�8�r98�2./1j)n)7
δQ = 0 dS = 0
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